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)7

PCA o, O
LSJ"*-’U*’L“M Luu)yo)dau.‘.istyod&} ‘u.wn

function Z = PCA (X)
m = size(X, 1);

Sigma = (1/m) * X' * X; il l9sf Gug o dawlas

A

[U, S, V]

A

svd (Sigma) ; > pylan a7 dyulon

U reduced = U(:, 1l:k); Jsl wak vl

A

A

Z = X * U reduced; s K U g slesyly cuwlan

end;
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5308 (85 PCA @iyeal

;s A
> X=[11100;,22200;11100; 5550 0;
11022; 00033, 000113,

>> meanVals

mean (X) ;
>> X norm = zeros(size(X));

>> for i=l:size(X, 1)

Wyl (sles,l,

> X_porm(i, :) = X(i, :) - meanVals;
>> X_norm 1 1 1 0 0
- 2 2 2 0 o0

X_porm =

~0.42857 -0.42857 -0.28571 -0.85714 -0.85714 i1 1 1 0 0
0.57143 0.57143 0.71429 -0.85714 -0.85714 ol N N U
~0.42857 -0.42857 -0.28571 -0.85714 -0.85714 1 1 072 2
3.57143 3.57143 3.71429 -0.85714 -0.85714 1YYl g] s
o o o 1 1

-0.42857 -0.42857 -1.28571 1.14286 1.14286
-1.42857 -1.42857 -1.28571 2.14286 2.14286
-1.42857 -1.42857 -1.28571 0.14286 0.14286

X norm = bsxfun(@Gminus, X, mean (X))

1090 - sty gal5 - pabls (53350 - (5615) pob sy



5139 ¢sloylsp sawlas :PCA 033)09)

v 5
> m = size(X, 1);

>> Sigma = (1/m) * X nom’ * X norm;

>> [U, S, V] = svd(Sigma) ;
>> S
S =

Diagonal Matrix

8.7173e+000 0 0 0 0
0 1.5832e+000 0 0 0

0O 6.6876e-002 0 0

0

0
0 0 0C5.6022e-016
0 0 0 0C1.4144e-047
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>> U red = U(:, 1:3);

>> Z = X norm * U_;ed;

.1667425
.4442884
.1667425
.2773812

1.7595299

.3326043

2.2960504

1.
.7390287
.3749474
.1687275
.1001502
.9204675
.7004216

3749474

.0091539
.0228180
.0091539
.0638103
.5712943
.3520239
.1143345

sles) g0 (5 :PCA @33)03))
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adgl sla a51y (5 Lw)L :PCA @33)93))

-~~~
>> X recovered = Z * U _red’;
> for i =1:m
> X recovered(i, :) = X recovered(i, :) + meanVals;

>> x_recovered

X recovered = Wyl (sl2syl,
1.00000 1.00000 1.00000 0.00000 0.00000 1 1 1 0o o
2.00000 2.00000 2.00000 0.00000 0.00000 2 o2 9 o 0
1.00000 1.00000 1.00000 0.00000 0.00000 1 1 1 0 0
5.00000 5.00000 5.00000 -0.00000 -0.00000 5 5 5 0 0
1.00000 1.00000 0.00000 2.00000 2.00000 i 1 o 2 2
0.00000 -0.00000 0.00000 3.00000 3.00000 0 0 0 3 3

o o0 o0 1 1

-0.00000 -0.00000 -0.00000 1.00000 1.00000
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5p o)
1 )G
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< 0.10

1 .
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;10 slaadlgs slaas L(AT))

k=0 ’/U/M—‘.' (QJJ/?&/’ 'J:/./
repeat
1

k=k+1

try PCA(X) with k components

1 2
compute Ureducediz(l)»z(z)» 'Z(m)» xc(lp)prox' xc(zp)prox' e xc(l?zgrox
: lZ‘L{El”x(i)_xgliz)oprox”2

} until 2— < 0.01

1 2
Xl L0l
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o) slaadlgs slaas oalsl

remove mean from X

1
: _ (X« X):
sigma - (X' * X)

[U,S,V] = svd(sigma); si; 0 0 -
pick smallest value of k for which: ¢ = 0 S%Z 0
O O STLTL-

Z‘ 1%t > .99

1 1 Sii
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;10 slaadlgs slaas L(AT)]

!
e—e Explained variance ratio
< i il = = i = F
2 10 15 20
# of Principal components
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Explained variance ratio
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I individual explained variance
| |
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Sy polie gy 5os O
— T
Datamxn = UnxmZmsnVnxn |

\

opeis ps5len (e

Q).O.».o ).‘s‘»)l.a.o u.»...s).aLo [
D 5 po 20l O ygo 4 8,000 polie ] o aS g k8w Sl SO O
Al o ode gl s 4 T ale il SOl 0 aie polie O
iiwd Data X Data® s 5l gog yolia £9d (Gdin ) O ki polde O
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JBs 3ybis pslds (sw)a3

7>

> Data = [11100;22200;11100; 5550 0;
11022; 00033, 00011];

>> [U, Sigma, VT] = svd(Data);

>> Sigma

Sigma =

Diagonal Matrix

9.7214e+000 0 0 0 0
0 5.2940e+000 0 0 0
0 0 6.8423e-001 0 0
0 0 0 0 0
0 0 0 0 0

>>

Data,xn = Unx323xzVaxn

1190 - sley) gsal5 ~ pyibls SRS - (5615) oL sy
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A

Datayxn = Unx3z23x3V3xn |

—

.

Data Sigma vt
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(k= 1) JG.s :)dis pslios s3)a3

s 5
>> Sigmalxl = Sigma(1l:1, 1:1)
Sigmalxl = 9.72140

>> Data approx U(:, 1:1) * Sigmalxl * VT’ (1:1, :)

Wyl sloayl,y

1.05 1.05 0.98 0.06 0.06

1 1 1 0 0
2.01 2.01 1.96 0.12 0.12

2 2 2 0 0
1.00 1.00 0.98 0.06 0.06 1 1 1 0 0
5.03 5.03 4.90 0.30 0.30 5 5 5 0 0
0.76 0.76 0.73 0.04 0.04 1 1 0 2 2
0.12 0.12 0.12 0.00 0.00 0 0 0 3 3
0.04 0.04 -0.09 0.00 0.00 0 0 0 1 1

SSE =~ 28.494

1190 - sley) gsal5 ~ pyibls SRS - (5615) oL sy



(k= 2) J0.s )dis pslios s3)a3

-s. A

>> Sigma2x2 = Sigma(l:2, 1:2)

Sigma2x2 =
Diagonal Matrix
9.72140 0
0 5.29398

>> Data approx U(:, 1:2) * Sigma2x2 * VT’ (1:2, :)

Wyl sloe)l;

1.00 1.00 0.99 -0.00 -0.00

1 1 1 0 0
2.00 2.00 1.98 -0.00 -0.00

2 2 2 0 0
1.00 1.00 0.99 -0.00 -0.00 1 1 1 0 0
5.02 5.02 4.94 -0.00 -0.00 5 5 5 0 0
0.77 0.77 0.00 2.03 2.03 1 1 0 2 2
0.14 0.14 -0.28 2.98 2.98 0 0 0 3 3
0.05 0.05 -0.09 0.99 0.99 0 0 0 1 1

SSE ~ 0.46817
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(k= 3) J0as yhis yslis saz)as

>> Sigma3x3 = Sigma(l:3, 1:3)
Sigma3x3 =
Diagonal Matrix
9.72140 0 0

0 5.29398 0

0 0 0.68423
>> Data_approx = U(:, 1:3) * Sigma3x3 * VT’ (1:3, :) Wyl (sl2s)l,
1. 1. 1. 1 1 1 0 0
2 2. 2. 2 2 2 0 0
1 1. 1. -0 -0 1 1 1 0 0
5 5. 5. 0. 0. 5 5 5 0 0
1 1. 0. 2. 2. 1 1 0 2 2
-0. 0. -0. 3. 3. 0 0 0 3 3
-0. 0. -0. 1. 1. 0 0 0 1 1

SSE = 1.2151e — 029

1190 - sley) gsal5 ~ pyibls SRS - (5615) oL sy
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N
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45 Sy9b k(i SesS Sll o e ) So O

k 2
=15 0.90
n o2 = 9.72 0 0 0
1=1"u 0 5.29 0 0
0 0O 0.68 0 0
k = 1. energy = 0.768 0 0 0 0 o
k = 2. energy = 0.996 0 0 0 0 0
k = 3. energy = 1.000 0 0 0 0 0
0 0 0 0 0
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11 1 )
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Ll ol (1) Lol o olic fgomma b 05 polin Saemre .a>gi O

1190 - sley) gsal5 ~ pyibls SRS - (5615) oL sy



2339 sla)lsyy g 0339 R3Es sSWlas

oo
Ax=Ax=>A—-ADx=0

[o)b Cy)\o)., ‘).a)] | Q).O.w ua.u).:l.o sS.:A — Ax Q.w).:Lo LJ"‘)"L“’ [

det(A—A) =0 ’ oS 4o [

LR 2 4

3 1 0% g ﬁ&l.ﬁ.n Sdewlo JL.A O
A= [1 3 trace(A) det(A)

\

det(a— D) =det(|* T4 1 )= -61+8=0=1=42
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